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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Bboklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
. of the available series.
- 2. Write clearly the Question Booklet Version Code A, B, C, D orE, inthe appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer

Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator you
may leave the examination hall.
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Answerallthe questions. Each question carries one mark.
DO, TFINIS), GO, 1,3 B3 wowd o8,

1. The layer of atmosphere which protects the earth from UV radiations

a) Troposphere b) lonosphere
c) Stratosphere d) Lithosphere
Mma'bdg_t 285609 $TLINDO dﬁbﬁ ADlevbbIIIevte]
a) @&gc@a;@_’o&cﬁ b) Slevioliatolelovbioy
c) mwéifaeﬁgdqdacs d) dFgreacdo®
2. Human Development Index is a composite of
a) Life Expectancy b) Literacy and Education
c) Income d) Allthe above
BRIRS °%:§€3063~o§@3 _
a) e @d@ b) midéméga@sw%x
C) sood d) 8320y
‘_ 3. Cumulative increase in the concentrations of a persistent substance along the
food chain
a) Biological diversity b) Biological magnification
" ¢) Biological depression d) Bio remediation
SeenlopelsstloveRrinic e:aa’;e;ﬁ'-"m_g EBSOTHONONT
a) 22esl BOGE b) 22z 5oR
C) B WRTReTed d) D% dRerO

4. Thermal pollution may cause
a) Increase of BOD level in water  b) Increase of CO, in water
¢) Increase of COD level in water d) Decrease of dissolved oxygen in water

wq%ia dra@a’gs@od QT3 SVOLIIMLITIT)

C) QORI COD ZRweows 2oF d) Be@d@ lopin] e:eeﬁ:zsdéd@ 303
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5. Black lung disease is an occupational hazard due to the mining of

a) Iron ore mining b) Copper mining
c) Coal mining d) Lead mining
3x) Do AeRe3 (Black lung) F20S030 VTR, NENDOF SRR TOOB L3I
a) 3T OO NESNP03 b) o NES0OT
c) 3QTOS NS0T d) 2633 nedrnoo?
6. The chemical constituents commonly used to adulterate turmeric is
a) Lead chromate b) Copper sulphate
c¢) Cadmium chioride d) Mercuric chloride
03T, 3308 RREE AR SUBO3RENRI TIRIOIVE WA
a) VAT 3R, ' b) ZoRT AL
1c:) TR, Qo0 3R T d) @EoRE dRETTE’
7. Night blindness is due to the deficiency of
a) Vitamin A b) Vitamin B c) Vitamin C d) VitaminD
SRPTET BRTC0T BTHRL BTN ?
a) @mﬁtori ot b) @@Loﬁ 50 C) 90N ‘A’ d) eaaﬂori‘@’

8. The World Ozone Day is celebrated on

a) March21®t  b) April22d  ¢) June 5™ d) September 16"
03, Lrine® ApISiot]
a) [esF 21 b) Qdyer22 C) BRJ"5 d) ABowo"16
9. National Tuberculosis Research Institute is located at
a) Ahmedabad  b) Bengaluru c) Jaipur d) Hyderabad
Tody 0030 FOSTREN RoBRego 3600 VO AMIRVLT
a) RO’ b) onsedd c) BT d) oo’
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10. Which of the following is not an example of green house gases ?

o

12.

13.

14,

15,

a) Carbon dioxide b) CFC’s c) Oxygen d) Methane
B3 IFB0ERINTS) CIe T30 TR LONST SPUTIBTFRCDN ?
a) VOWOT T wﬁ_ﬁwf b) CFCnsb
C) S=uIT - d) Qoege
Which of the following are considered as natural sinks of atmospheric CO,, ?
a) Rivers and lakes b) Land masses
c) Volcanoes d) Forests and oceans
33 3FBOBINTA CIRY) VOMOOT B, 58, T°R FRNET 2oeTO0TOR TRLNED ?
a) IN doéa {07at>V) b) ?.;)’Jaw 33N

c) eﬁﬂ—’ds-ﬁﬁ‘eﬁo d) zmcé:»r{e.i) 0B FONONEL
Name the important vaccine used for Polio prevention
a) DPT b) Sabin’s c) MMR d) BCG
PO BT SENEILO GUTO3RENTIT B0D LT
a) DPT b) Sabin’s c) MMR d) BCG
Whooping cough is medically known as
a) Pertusis b) Diphtheria c) Influenza d) Polio
Jo0 %ﬁgd: 3,33,8€030e30N &oeriomd IT30TT
a) JeDFRF° b) @gedadd c) faaf—r’%mo;sa d) Ipedadnee
Biocoenosis disease is spread in the workers of
a) Mining workers b) Machinery workers
c) Cotton textile workers d) Medicine workers
2J,03ReRBRER® d02) TRENE) 039Es FORNITTS) BIBIBE ?
a) NENDOBOR FOAMDTTRD b) cfoors’rf@od 3OR BRBORRTD
C) ®3NTLIo FORMTTY d) B=Y 3031)3@??063 BORNOTTD
Which of the following is a vector disease ?
a) Tetanus b) Diabetes c) Cancer d) Dengue
83 II50BINT) B0 3eNPOT BTRES Boen ?
a) PoWFradd b)) B0 c) BIo° d) @ones,d
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18.

19:

20.

21.

~627 -6- R ARR AT
16.

Which of the gases absorb high energy solar radiation and prevent from reaching
earth ?

a) O, b) N, c) Oj d) CO,
QRNTES) 030 e:a&)@@ L eveby: EletA L) eaﬁe.ﬁab 8oeORROTI) LRNICI FWdeeS BT cjgig{
é’dcmﬁts 9 :

a) eﬁdoasaiﬁ b) moTxIE c) tzdnes® d) orees &8,
First CNG vehicles were introduced in
a) Mumbai b) Chennai c) New Delhi d) Bengaluru
CNGOD0T 239RIS TRBENTR, BRTLO 290G 033953 SROEE, WO STLROWE ?
a) o] b) 53, C) SRR d) Lonsrod
Biomethanization is also known as
a) Anaerobic digestion b) Chemical digestion

c) Alternate fuel : d) Aerobic digestion
govs QoeEReades (Biomethanization) S0, &oeriomR 5S0308T
a) ST TeoB 23e69F 500 b) ToRD030NT zﬂmr&o&:
c) BODPF 03 RO d) e A0 Zﬁ@f’a‘?% o3
Which of the following does not have antioxidants ?
a) Flavonoids b) Sugars c) Vitamin C d) B-Carotene
QRNTS CSRRTOD, emé & ¢2 (antioxidants)nee 2
a) *a@raemodw‘ b) -’%d C) ‘X WIS, d) p-gedpess

Chronic obstructive pulmonary diseases are caused due 10
a) Water pollution b) Soil pollution c¢) Marine pollution d) Air pollution

ﬁi@w ROLIORB FOTHNE BReN BT BWNIBTS
a) %o SN0 b) adm SR c) oS ate SRS d) =03 &SROF

The presence of E.Coli in water indicates contamination by
a) Hydrocarbon b) Phosphorus ¢) Human waste d) Mercury

Q0TS Bs. BRI m%eaomrf%‘b SRR
a) ab“d.fafawfafr{@od b) oz

c) c-:baaiaﬁ ook Kol B d) ETRRT
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22;

23.

24.

25

Public health ethics is

a) Population centered b) Patient centered
c) Subject centered d) None of the above
RO RIT TR VeS0T

a) wIFoa0s, Beoty 33 b) deen seoly ez

C) QRO BeoR 33 d) cdnae we)
Pests and vectors in agricultural crops increases due to the

a) Increase of temperature

b) Increase of humidity

c) Both a) and b)

d) Decrease of temperature and humidity

a:gsdmofo BBNRTA FeL3nH o2 d%cfn’eﬁo émwﬁm 0D

a) YUTROBT B3 b) =T sERHTET Seem008
c) a) =02y b) : d) ema"u'%oef BB Se00T TR
Dobson Unit (DU) is used to measure the

a) Atmospheric carbondioxide ~  b) Atmospheric nitrogen

c) Atmospheric ozone d) Atmospheric methane

QU BP0 W C3RRER) eEedReN=OTT
a) TIVOLHTOTIN VOMOVT & B I BR/PD
b) 0BT ETTIw FITRIFE Toed

C) S0BORTLTOTI WReR" S TTIED

d) 9%ETITATIT Q0TS TRIoed

London smog was originated due to the presence of

a) Oxides of nitrogen b) Oxides of sulphur

c) Oxides of carbon : d) Phosphorus pentoxide
V0BT TR (SMOY) 03N VWS BTIIBEA0T T9,BoRIT0B)

a) ATHTEE B TNh b) nopss 8 AN

C) ROTPVT &8 T NLd d) Sowses Hoeng o
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26. 17D vaccine is recommended for active immunization against

a) Diphtheria b) Herpes c) Sandy fly fever d) Yellow fever
23 520008 WIT03 BEEL0“1 7D ©2E”000E ©F THTLD ARWANBYT
a) @edcsw b) BRI c) ST SR wd  d) BEO %0
27. According to Sushrut Shastra, Karma should be in empty stomach for the
diseases -
a) Udarroga b) Mukh roga c) Bhandar roga d) Allthe above

ROBBIIRE $TOT B3 TOWSNVR BRI BOF W2, 8099 BRI, BNTLIeBO
a) emcﬁd draeﬁ b) & Teen c) z;fomd dreen d) TR0 DO

28. National Environmental Tribunal Act was proposed in

a) 1991 b) 1995 c) 1997 d) 1999
0‘0%(’0&) ORT @waﬁﬁ@f F0NT B3 e @@&)@’mo&bﬁ)
a) 1991 b) 1995 c) 1997 - d) 1999
29. Deficiency in vitamins and minerals leads to
a) Obesity b) Malnutrition ¢) Thyroidism d) TB
D30T TN DV0ING FRT3CI WO
a) BRYECD b) %3053 C) GOPO0REO d) goddeen
30. The first UN conference on environment was held in
a) Montreal b) Riodejaneiro c¢) Stockholm d) Johansberg
é;)eﬁ RORO30 B030e2338 TR0 VORT ARTD) DAY, SWOBO
aﬂ:aoégodw‘ b) @odme—@~zzaﬁdm
C) AF B0 d) ziraemaizwﬂ‘r

31. Which of the following constitutes the typical modern municipal landfills ?
a) Ground water monitoring wells b) Permeable barriers

c) Leachate treatment facilities d) Impermeable barriers
B3 FEND 03RO B WD Zoesne eS0T pkao) MTN$E [TLIeET “’Bmzp’ 9
a) €908LE TOSCLTD LIDINED ' b) waos-oibew@f 239,00300°,
c) Oerdees® 83e3 008" FPOY d) ARedd SR ézériraeaé’/ Segmod
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32. Chlorination of water leads to

a) Disinfection b) Removal of turbidity
c) Increase in oxygen d) Decrease in oxygen
Q03 %.rzgg@&eédsaaomma% TOTORD
a) BRI JRRF O b) Roe3BeNEOD BE
C) BRRTBER BY d) t-sdouﬁ%d 3R3
33. The Forest (Conservation) Act was enacted in the year
a) 1986 b) 1974 c) 1980 d) 1972
3068, FOTTH FVOWT O3 BRF TS, 2IDOCIRNT ?
a) 1986 b) 1974 c) 1980 d) 1972

34. Ashtanga yoga of Patanjali as per Swami Vivekananda is
a) Bhaktiyoga b) Rajayoga c) Karmayoga d) Jnanayoga
BB0ROO TN o3Rene) DeSEFISOTT 03953 O3RENTBOLO HONEST ?

a) #33cdneen b) comodeen c) 3Roradeen d) mqsodraeri
. 35. Filtration is one of the primary functions of
a) Lung b) Heart c¢) Kidney - d) Liver
RRERDZO3 B3 FSNS 2,003) L30NT TARLFO3D BNT
a) ) AERD b) oD c) B30 d) agdee3
36. The following chemical is used for artificial rainfall
a) CuSQO, b) NaCl c) Kl d) HgCl,
“g38 RV B3 DoAR0RTRS WYROONIR) T
) FoRO° AEE b) Are@c30 3RETH
c) fgpz-;s%?oodao RO3RTEE d) So8yFos ﬁfaed =3
37. The organism is an example of a photoautotroph
a) Algae b) Fungi- c) Viruses d) Protozoa
30,8 VBT e QT LVTIBOFOIIANT '
a) 023 b) 8deog, c) FoA° d) Spedrednes

SPACE FOR ROUGH WORK
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39.

40.

41.

42,

a) 48 hrs. b) 96 hrs. c) 72 hrs. d) 24 hrs.

DB FHATED RownY 8088 SeDTHRALRLITTO.

a) 48 b) 96 c) 72 d) 24

Bone is affected by :

a) Chlorine b) lodine c) Fluorine 'd) Bromine

RoRY BROTTOIRNIYT VWO

a) Reox*  b) xcdeels* C) FRLOT® d) BeeRos®
43. The following is a non-renewable energy

a) Solar b) Wind c) Fossil fuel d) Tidal waves

STBERNS B8 '

a) Rechr-ms)  b) ™Y c) W08 2R - d) RRNBE 0

627
38. Typhoid is caused by

a) Fungi b) Viruses
Cwlovny BEO0T 200833
a) 90y, b) Fo=*

Algal blooms results in

a) Global warming

c) Salinization

013 TLTON0TI LVOEIDMIT)TO
a) PNST TIPS

C) ©REIETTD

Mumps is a disease of
a) Parotid gland
c) Sublingual gland

ﬁa‘%&% T3

a) WTREE" Mo

¢) AW don & MYos

10- QU

c) Bacteria d) Algae

C) 239,000 d) o8

b) Eutrophication
d) Biomagnification

b) c30tdm eqe83e9
d) wodpeERNQIERST

b) Submandibular gland
d) Submaxillary gland

b) Re3°R5,082000T° MRote
d) RITRIOO MOT’

Biomedical waste should not be stored beyond

SPACE FOR ROUGH WORK
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44. Pulse Polio Immunization Programme was launched in India in

a) 1980 b) 1995 c) 1975 d) 1990
03T Fpedodpe VRBOI FOORF 0 TW,00LIeOT VAF
a) 1980 b) 1995 c) 1975 d) 1990
_ 45, International Day of Yoga was celebrated on
: a) June 218t b) June 5" c) May 22nd d) December 15t
@000, €03 cdoen QRER Q0T 523050823
a) w2l b) ez 5 c) oe22 d) &Fowo 1
46. The following is a micronutrient for plant growth
a) Nitrogen b) Zinc c¢) Potassium d) Phosphate
m’z\g’gr{# 3eBednn aﬂeﬁadmﬁb TPeRT0S
a) JTEIT b) 3 C) FPERACI0 d) R
47. Vitamin D is rich in _
a) Chicken b) Milk c) Egg d) Cod liver oil
QLT Do BT BN
a) BREPTIV0R b) e c) S0, d) oeIw,
48. Best method of managing biodegradable waste
a) Composting b) Deep well injection
c) Sanitary landfill d) Incineration
SN D[RRI E‘%%h}@i} RRgwoN JTF &RV 068
a) 1ewg Spepiaty b) %R0 HPEE) BONCIRYTO
C) AR,QLI0 L0t d) VoY
49. Congenital diseases are
a) Acquired during life time b) Spreads from person to person
c) Diseases present at birth d) Deficiency of nutrients
%} 90RIBRENEBOTT | .
a) 23eNIORG TOWNS b) 2u2)00c R TSRS Srent
c) BXRoTWOBBREN d) FpeREOIT BROS

SPACE FOR ROUGH WORK
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50. The disease affecting the respiratory tract
a) Rabies b) Influenza c) Polio d) Viral Arthritis
md-uam@% ROWORT ToONS
a) Sewx® b) a*Podoe  ¢) Hpedadee d) ST Bk
51. Soaps and detergents are the source of organic pollutants like
a) Glycerol b) Organochlorines
¢) Sulphonated hydrocarbons d) Polyphosphates
FOLRRD B WIWF BN em:«ﬁé ST IO Ty
a) NFCP* b) e:&mra"xaeé@ ool
c) AdRsSeLin’ RRERCTNET, d) & —ae’.‘)"meés‘
52. Commonest cause of stroke is due to cerebral
a) Thrombosis b) Hemorrhage  ¢) Embolism d) Infarction
T, £ 39 0300 AW FOTEIRY) RS LRT
ia) %ori;\é)% b) éortra‘a)%’ c) 2050;)@" d) .B®o30NE
53. BMI means measurement of
a) Obesity b) Bone density
c) Oxygen levels d) Serum levels
BMI €20538 033053530 ¢28030003
a) RROUTOD b) Se$od AT
C) R TFRed d) 2ego ZRweo
54. Article 47 deals with
a) Right to Information
b) Right to Merciful Death
c¢) Rightto Education
d) Rising the Nutritional Level and Quality of Life
P feATAnIN AL WA wazsed@ QTT 2 AT
a) B BB,
b) 5d3—aa$Jodo FIRIATY ﬁib
C) 53503 BR)
d) Tamoss SR s $os) BRI T D03
SPACE FOR ROUGH WORK
A
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55. Suspension of airborne particles that contain living organisms is called

a) Droplet b) Mixture c) Bioaerosol d) Biopesticide

B RE0TPY, MmeaDHS, w3 Feare) eriomd Baoed

a) o b) Qo039 c) T HBTE ) DT $CE3T0TT
56. pH of acid rain is

a) 6.6 b) 5.8 . c) 6.7 d) 7

3530 wovod & (pH) apS

a) 6.6 b) 5.8 (63 07 d) 7

57. Vrikshasana is good for

a) Strengthens legs and hips b) Blood circulation
c¢) Urinary disorders d) Nervous disorders
"SRR amE, $03Rd '
t a) T TWF AROLTI) WOBRRLY  b) g Howsesn
c) B3, Aowod TSR d) 33 deennen
58. Which of these treatment involves trickling filters, activated sludge ?
a) Primary b) Secondary c) Tertiary d) Quarternary
BReG8 223003 (trickling filters) 3083 303700.2 urj\cé (activated sludge) om0
3030msh 83 Dedod ﬁo@dmﬁ@b -
a) TP b) &8¢ c) 38eod d) 5.F=0

59. Leukaemia is a cancer of

a) Skin b) Bone c) Muscle d) RBC
“©0,Be003" DOWIT O3S BN FR0°

a) B> b) B0 c) RP0RDoE d) RBC

SPACE FOR ROUGH WORK
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60. Expanded form of VPD
a) Vaccine Preventable Disease b) Vaccine Preventable Disable
c) Vaccination Preventable Disease d) None of these
VPDC3 Q700 8%
a) Vaccine Preventable Disease b) Vaccine Preventable Disable

c) Vaccination Preventable Disease d) &¢9s3 03RRER @0,

61. “Rain forests of oceans” refers to

a) Minerals b) Coral reefs c) Whales d) Sediments
95 FNTE RoseEone (Rain forests of oceans)«0md 3BCLEIZT
a) DWW b) mx$ @a%ﬁ%b C) SR0ONONED d) =oe3odonsd
62. Ozone depletion was first observed in
a) Arctic region : b) Southern hemisphere
c) ;Northern hemisphere d) Antartic region
TR0 tutdnen’ fgfséeédsa@ BB 00r Q) MITIERTCBD
a) ©BFedE BeS b) TéceAReRTE
C) V8T RRERGE d) wote3es Bred
63. Lack of sufficient oxygen in the bottom sediments of riverbeds is known as
a) Hypoxia b) Hyperxia c¢) Biomagnification d) Precipitation
S0 SIRIHTOR RIS $RTIO) &erioz) 803083
a) FFIPOD b) ST I0D
c) wodRemRNYIBT d) 222833
64. The technology used for the generation of energy from waste is
a) Mineralization b) Sedimentation
c) Segregation , d) Biomethanization
9,254,008 Q0TS (F3) S0IROFOG, YUBARENATIN SRS
a) DABe0ED b) JesdTedescen
C) $eTOLD | d) o8 Qoegien” SoROT,
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65. Homeopathy originated in

a) India b) Greece c) Germany d) China

BR3P RS VAR Neve ﬁc:jpéodw 83 B3e3TE) 33,80535002080

a) RT3 b) Aex* C) BFR d) ¥
66. The Buddhist king practiced Ayurveda even in 226 B.C. was by

a) King Ashoka b) Krishna Devaraya

c) Mahaveera d) Chandragupta Mourya

3. 5. 226 0Q 03¢ O30 TR, ITHN o v GOz

a) Oo% e33eT b) 3F BeSTRoD  ¢) WoTNET d) BWomrom oviie}
67. Which is the natural habitat of the Indian Lions ?

a) Sunderban b) Gir forest c) Nagarhole d) Kanha National Park

LIOVEE0T ROBNS A, 0B Qe0R CIRHT0 ?

a) Rows &I _ b) No* &Sy,

C) RoBRY d) 5@ 00,00 WD
68. The ecofriendly fuel is

a) Petrol b) CNG c) LPG d) Kerosene

SORT SRS

a) Tdnee* b) 2.2 C) O &.2. d) %eﬁaaﬁi‘a
69. Normal body temperature of an adult is about

a) 99.2°F b) 94.6°F c) 96.8°F d) 98.6°F

TRRT TeDe3 GoRoD0 TLRTY BB

a) 99.2°F b) 94.6°F G)-96.8°F d) 98.6°F
70. Unani medicine approach first started in

a) India b) Greece J c) Germany d) USA

30T BRECI0 BRTO 007 03N Be3nQ wHRTRNE) 9

a) T3 b) nex® C) BWIOF d) o305
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